
MAT 2540 - Writing Assignment 4
Write a paragraph addressing the following question.

(a) Construct two binary search trees for 10 randomly generated words
using the link below. The first tree should be constructed using the
order in which the random words were given and the second should
be constructed assuming the words were given in alphabetical order.
Compare the heights of the two trees. Is there any benefit/drawback
to having a smaller/larger height?

https://www.randomlists.com/random-words
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